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BDwbqb t 4 bs Pvu›`vk ev‡RU Gwó‡g›U 
2014-2015 A_© eQi 

wefvM µwgK 
 bs 

c‡`i 
 bvg 

c‡`i 
 msL¨v 

Kg©Pvixi bvg g~j †eZb evox  
fvov 

 45% 

wPwKrmv  
fvZv 

wUwdb  
fvZv 

Drme  
fvZv 

Ab¨vb¨  
fvZv  
(wk¶v 

mnvqK) 

GK  
gv‡mi  
†eZb 
 fvZv 

evrmwiK  
fvZv 

1 2 3 4 5 6 7 8 9 10 11 12 13 
‡gvt gvngỳ  nvmvb - - - - - - 19,816/= 2,62,352/= 01 mwPe 01 

 ‡gvU= 2,62,352/= 
02 `dv`vi 01 ‡gvt QvBdzÏxb 4/1 2100  12 gvm= 25,200/= +Drme fvZv 4,200/= - 29,400/=  

09 Ó e‡qb DÏxb 4/1 1900  12 gvm= 22,800/= +Drme fvZv 3,800/= - 26,600/=  
 Ó Gg`v`yj nK 4/2 1900  12 gvm= 22,800/= +Drme fvZv 3,800/= - 26,600/=  
 Ó †gv‡gbyi Bmjvg 4/3 1900  12 gvm= 22,800/= +Drme fvZv 3,800/= - 26,600/=  
 Ó †gv¯—vwKb 4/4 1900  12 gvm= 22,800/= +Drme fvZv 3,800/= - 26,600/=  
 Ó Avqbvj nK 4/5 1900  12 gvm= 22,800/= +Drme fvZv 3,800/= - 26,600/=  
 Ó mweR DÏxb 4/6 1900  12 gvm= 22,800/= +Drme fvZv 3,800/= - 26,600/=  
 Ó m‡`i Avjx 4/7 1900  12 gvm= 22,800/= +Drme fvZv 3,800/= - 26,600/=  
 Ó QBei Avjx 4/8 1900  12 gvm= 22,800/= +Drme fvZv 3,800/= - 26,600/=  

 
 
 

4 bs 
 Pvu›`vk  
BDwc 

03 gnj­v`vi 

 Ó QvB`yi ingvb 4/9 1900  12 gvm= 22,800/= +Drme fvZv 3,800/= - 26,600/=  
‡gvU= 2,68,800/= 

me©‡gvU= 5,31,152/= 
 
 

Aby‡gv`‡bi ZvwiLt 
 
 
 

mwP‡ei ¯v̂¶i               †Pqvig¨v‡bi ¯v̂¶i 
  

 


